|[dentify which has the smaller IE and why:
AI (Z 13) or P (Z =15)

Group—-1 2 3 7 10 11 12 13 14 15 16 17
}Period

1
L1 H
2 3 4 5 6 7 8 9
L Be B C N (@] F
3 11 || 12 131114 ({15 | 16| 17
Na || Mg Al || Si P S Cl
1 19 || 20 21 22 23 24 (|25 1126112712829 (|30 31| 32|33 34| 35
K || Ca || Sc Cr |{IMn|| Fe ||Co || Ni |[[Cul|Zn ||Ga |l Ge || As || Se || Br

1. AI (IowerZ )
2. P (lower Z )

3. Al (higher Z )
4. P (higher Z )
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Which molecule has more polar bonds?

1. Vitamin A
2. Vitamin B9
3. Same number
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How many valence electrons does
fluorine (F) have?
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Which atom would you expect to be in the
center of the Lewis Structure of HCN?

1. H
2. C
3. N
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Which Lewis structure would you
predict to be most stable?

1. Structure A
2. Structure B
3. Structure C



Which Lewis structure would you
predict to be most stable?

1. Structure A 88%
©?2. Structure B
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Which is correct?

1 . Struct #1 Struct #2
FCopa=0 FCya=0
FCog = +1 FCyp = +1
FCoc=-1 FCyc=-1

2. Struct #1 Struct #2
FCop=0 FCyp=-1
FCog = +t1 FCyp = +1
FCoc=-1 FCy=0

3. Struct #1 Struct #2
FCop=-2 FCyp =-2
FCog =0 FCy=0
FCoc=-2 FCy-=-2

4. Struct #1 Struct #2
FCop=0 FCoa=1
FCog =-1FCoz =-1
FCoc=1 FCye =0



Which is correct?

1 . Struct #1 Struct #2
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2. Struct #1 Struct #2

—0%
—0%
—0%
—0%

FCon=0 FCon=-1
FCop = +1 FCyp = +1
FCoc=-1 FCoe=0

4. Struct #1 Struct #2
FCop=0 FCoa=1
FCog =-1FCoz =-1
FCoc=1 FCye =0
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